Name: i

Show all work Period: Date;

Warm-up on Jan. 9

Solve for ¥

1. 2§+ y=8 2 —h.\'+3y=lib

-zé ~AX J X

— — " | —
Ge-ax+s il R

Identify the slope and the y-intercept of each equation, then graph each line.

3 1
3. y==—x-1 4. y==—x+2
fv - intercept) b= (v — intercept) b=
(slope) M= _L‘_ {slope) M= T

Identify the slope and the y-intercept of each graph,

wri i It in_ y= +b_for
5. v - intercept) b= = 6. (v—intercept) b= 6
{slope) M= ? fslope) m= :—%\-—-
| a -
y=x X~ A= ZX+5

J equation \) equation




Review for Final Exam 2" Quarter Name:

A]geh“ b Period:
Date:

1

a) Which lines have a positive slope ? PI )8} C,
b) Which lines have a negative slope ?

¢) Which line has a zero slope 7

) Which line has an undefined slope 7 H-

2
¢) Which line has a slope of 3— ? (\/

-2 1 )
f) Which line has a slope of T 2

2) Which line is steeper? or Line C

h) Which lines have the sane slope?

Here are some helpful steps

2. What is the slope of a line that pass through the poings (-2.3) ¢ d Q (I—{ b)
Step I: Plot the two points - : ; T :
Step 2: Draw a line through them
Step 3: Find the rise 3
Step 4: Find the run b

e,

Step 5: Determine the slope  ———

s




3. Graph the following lines:

»

Il
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=
|

4
B. y=——x+5
) 3'c

L R

BT e e T

¥ £ F = T F

C..y=3x

4. Solve the equation for y.

a) Pp=5h==1 b) 3v=12x+15

c) 3y-15x=9 d) 3x+2y=

= o e
5. What is the slolil of the fol%wing linear equation: 2y —8x=20

Yo 5y

8

T

W1 40

(hint: first solve for )

0t

\




6. What is the linear equation of the relationship?

X ¥
3 [ @9
) <) AR AL

-1 2
0 | 4 %
1 | 6 !
2 8

a) y-intercept: b) Slope: ¢) equation:

r % §= ¥

7. What is the linear equation that represents the pattern below?

a) y-intercept: ?) h}Slopc:ﬁ_ ¢) equation: b—' I * +5

L » | o 4
Figure0: g Figurel: G @@ Figure2: OB 8% 0O
nEn OaspO

i e )
8. What is the linear equation that represents the patterns below?

a) y-intercept: b) Slope: ¢) equation:

000 00000 cobaoaa

Figure 2: 0000 Figure 3: 0000 Figure 4: 000000

9. An electrician charges $70 for making a service call plus $25 per hour of work.
What is the equation for the total cost of the service call if ¢ is the total cost and 4 is the number of hours of work?

a) y-intercept: b) Slope: ¢) equation:

10. An animal reserve has 50 panda bears. and sends 5 panda bears to a park in a different country each year.
What is the equation for the number of panda bears (B) for any number of years ().

%) J-inlcroepk b15|0rw=5 ¢) equation: D'_‘; —5)( +50
=0 A =-9¢ +50



11. The table shows the amount of money in your bank account over time.

Months | Dollars

Do (W

160
40 4D

a) Determine the rate (slope) at which you are spending money:

o

b) Determine the initial (beginning) value: QOO

¢) Write the equation: —_ - Q_C?_ ‘i— O
\‘3 S n =200

12. The table shows the distance a train travel over time.

-20

Hours

1

Miles Traveled

70

280

a) Determine how fast (miles per hour) the train is traveling:

b) Determine the initial (beginning) value:

c) Write the equation:

13. Draw each of the graphs given the table of values, then write the equation of each line.

X ¥

-2 -5
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L3
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2 3

slope: c;z.
y-interccpt:- |

2
equation: Y = ""X'-' 1

\

b.

X 4
-3 9
0 5
3 1
& -3
9 =T

slope:

y-intercept:

equation:
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14, Carrie is buying a computer. The store has a payment plan where she will pay $60 per month.
The graph below represents the amount of remaining money due to the store.

w 1200

s

8

600

Amount (dollars
/

300

5 20
Time (months)

a) What was the initial cost of the computer?
What did you use to help you determine the initial cost?

b) How long did it take to pay off the computer?
What did you use to help you determine the time?

c) At what rate did Carrie pay off the computer?
What part of the graph represents the rate?

15. What is the slope of the line that contains the points (-7, 9) and (-5, 3)

.
5
.
-
.

L
4 T

You con use the groph to help
figure our the onsiver

& b kN

16. Determine if the slope of each table is positive, negative, zero or undefined.

a.
Days 10 20 30 40
Gallons 100 80 60 40
b.
Minutes 1 2 3 4
Number of sit-ups 40 80 120 160
_C
Years 20 22 24 26
Feet 6 6 | B 6

I.l L !.II"



17. Graph the following equations

a. )==%_t+l b. y=4x+1

Which graph has a steeper slope?

18. Graph the following equations:

a y=2x b. y=2x—4

How did the second graph change compared to the first?




